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4. 

8100  

 

 (A) 225 (B) 2250 

 (C) 22Ö5 (D) 2Ö250 

5. x 2+ 4x + 4  
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II.  6 × 1 = 6 

9. 210  

10. A = { 1,  2,  3,  4 }    B = { 1 }    A \ B   

11. 80 

4  

12. f ( x ) = x 2  – 4   f ( 4 )  

13.  ABC   XY || BC,  
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III. 15. 3 + 5   2 
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  A  B G n ( G ) = 700,          

n ( A ) = 200,  n ( B ) = 300  n ( A < B ) = 100  n ( A l < B l )
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  P ( x ) = x 4  + 2x 3  – 2x 2  + x – 1

x 2  + 2x – 3  2 

 24. x 2  – 4x + 2 = 0  2 

 25. ABC AD PQ || BC PE = EQ 

 2 

 

 26. cos q  tan q  2 

 

 27. 

 

   ( 3, 10 ),  ( 5, 2 )  ( 14, 12 ). 2 
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 28. 3 8 

 2 

 29.  2 

    [   20 m  =  1 cm ] 

 D    

 150  

 100 C 80  

E  60 80  

 40 B 40  

 A   

 30.  2 

 31. U = { 1,  2,  3,  4,  5,  6,  7,  8 },   A = { 1,  2,  3 }   

  B =  { 2,  3,  4,  5 }    ( A G B ) l =  A l < B l  2 

 32. 100, 96, 92, ................. , 12 

2 

 33. r
n P  = 840    r

n C  = 35 n  2 

 34.    75  + 108  – 192 . 2 

 35. P ( x ) = ( x 3  + 3x 2  – 5x + 8 )  

g ( x ) = ( x – 3 )  2 

 36. 8m 2– m – 2 = 0 

 2 
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 37. ABC    BDE 

BD = DC D ABC  D BDE 

 

    2 
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 43. ABC ÏA = 90°,  AD  ̂BC   ÏB = 45°. AB = x

AD x  

 

   ABC ÏC =  90°,  BC  =  a,  AC  =  b,  CD  ̂AB 

 CD  =  P
2

1

P
 =  

22

11

ba
+   3 

 44. 
q+q

q-q

tansec

tansec
 =  1 – 2 sec q . tan q + 2 tan2q  

 

  
q-

q+

cos1

cos1
 =  cosec q + cot q  3 
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 46. 462 2
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V. 47. 6

– 120  
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 48. 

 4 

 49. 9 4 2 

 4 

 50. x 2  + x  –  6  = 0   4 

 


